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First ·Year Higher Secondary Improvement Exan1.ination 
Part- III 

ECONOMICS 
Maximum: 80 Scores 

Time: 2% 

Cool off time : 15 .H.HHU.~'~"' 

(General Instructions to Candidates : · . -~~ 
e There is a 'Cool off time' of 15 minutes in addition to the writing time of 2% hrs. I 

~ You are neither allowed to write your answers nor to discuss anything with I 
others during the 'cool off time'. ! 
Use the 'cool off time' to get familiar with questions and to plan your answe~s. 

e · Read the questions carefully before answering. 

All questions are compulsory and only internal choice is allowed. 

When you select a question, all the sub-questions must be answered from the 
same question itself. 

Calculations, figures and graphs should be shown in the answer sheet itself 

e -Malayalam version of the· questions is also provided. 

Give equations wherever necessary. 

Electronic devices except nonprogrammable calculators are not allowed in the 
Examinatiod Hall. 

II m1m~1ns·rs crum<Waml)1ol' nJ606lm 15 m1m18 '<i:b~UD 630n..0 6l6lSo' ~61r5omll(old76J6o. [Q'D 

crum w®b) lil.DJOGJ60BU6d3-6) ~aml)roo Q{D':f' J,CIDOClmo, mR~OJ ro2,m:xoJl ar@CfbCQJ nllm1 QlCQJo 

ffiS(Q(ll)OGffi::l nJOS1§i:J,. 

8 ~aml)C060BUD Q{D':f'J,CID2,cmtiD1m t!!J,mJ <2.!JJOG~60BUD ~BDOnJ2,m<}do OJOmflcB6)6:Tio. 

8 Q{D~p Cl!.l..!OBJ6l51300ce£)6o ~(lffil)COo Q{D':f'J,®6mo. 

8 63C1lJ, <2.!JJCIGjffimJ& ~(Of6)(1)6)Q)l9J,CliXXrD 6)@(1)6)6Yli'!1l)S2,aml)2, <fb~6Yni5KHif6 ~nJ Cl.!JJDGj60B~,O 

®0<2CID C&.DJOGj mmJro1ron m1rrr) ®6)cm 6lCIDC06)6'11ffiDSJ,C&ce£)6fi5@:J6ffi. 

fl! c£b6fT)d76Ju <i:b4§eJJ,&:bUD, .2..llL®60BUD, lCDOCL02,<£hUD, nfj)cm1ru ~aml)ffi GlnJ!J::I01co'&w,-o;61rrn 

g}611'50mfl ailce£)6mo, 

G ar@illCfbJUl6@§ cru.oe.Jcoro) crumruo~j60BU6 6l<£bOS2,cet>16!Tio. 

tt Gl.DJ:J(3j6l5BU6 meJWO§(Q(ll)1e.!Jp reron<£b1m51§6~. 

• Cll nJ o l m o m6 <£h U6 6) _')J <mom :J <£h o @'(!) <£h o ron cB6) 6 l1l e.1 R o 6 <£h U6 631jl16l ce:, w 6~, 
g;Q e.Jcfue&lS06!Tilcf£ ~nJ<£bC1l6ffiOJ2,o nJ COldhl:10nOOgl ron ~nJ aJWOCDlce£)2,0JOcYO nJ OS1&J. 
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1. "Operation Flood" Is ·related 1. "63onJ~onS:lcfb n..n"§_ruf' 611Jm.D6l<;l:J31ro1cOOJ,-

to .................. . crn® ........................ . 

(Fisheries, Horticulture, ( Ql((ffi)~6D.Jm.JJffio, ~em03ce,~o.'l{l, nJ§6ffi~aiTJ 

Sericulture, Animal Husbandry) (1) nJ6"9 6 ru §.ii><O®am, ce,crn6ce,o en ru §.&<O®am) ( 1 ) 

2. Tell your friend the two distinct 2. croo6l.l~ce,o (Statistics) Cl{j)crD nJGo 

senses in which the word 'Statistics' ~n.J~wow1cOOoru6crn m61"!S" ru~em~<nill 

is used. Elucidate. (2) ®1Jii>®O eme.Jooun ntJ36lem~ OQl06l6fficrDU 

o.Jl Cf?J G m omfl m16lll3 §.661 s ce,J§6cm o ffi1 ~ w o s" 

n.J 0Cll) 6ce,. 

3.. Aysha is an educated, unemployed 

youth seeking employment in the 

formal sector. Suggest the merits of 

formal sector employment. (3) 

4. Correlation measures the direction 

and intensity of a relationship 

among variables. 

a) Recommend any two techniques 

for measuring correlation. 

b) Point out two examples each for 

KR-43 

positive correlation and 

negative correlation from a 

real-life situation. (4) 

2 

3. 63'1ln.J.!l.lom1ce, ~m6l.Je.Jw1am 6lemo"91am 

<1l1il ~ m J n9:f1 cOO 6 ern o.Jl G~ocro mJ crnw ow 63m2, 

Cll) 6 ()J em1 Cll):) 6'11)u 6) Cl{j) nS1 • 63 '1) n.J !2J:) ro1 c.e, 

~ Ql6l.l eJ w16l eJ · 6l em o "91 e.J16l <"@ w 6 6ffi 6llT3 cJn 

n.J 0Cll) 6ce,, 

emi nS:l" 6ffi em w 6 o 

ClUnD611Jm.JJo. 

a) cronD6U.lm.JJo ®1J§_cOOOm~ ntJ36lem!B:.1e.J6o 

msrr§ moil>e&oocJn m1iD~'3Cf?J1c006ce,· 

b) w 1.0 o & aru:i gr,fl o.Jl em cro onn .!l.l m J 6013 §.1 am 

m1crn6o aln.JOmJlRiru" cronD6U.lm.DW©1m6o 

6) m w Ri ruu cro nD 6U.l m.JJ wrm1 m 6 o ro 61"!Su 

o.TI emo ~GOnD<"06ffi60BOO ce,6)6fl5<0® 2,ce,. 

(2) 

(3) 

(4) 



5~ Anju calculated the value of the 

price index number as 135 and 

interpreted that price as said to 

have risen by 135%. Is Anju's 

int~rpretation correct? Justify. (1) 

6. Suggest any two measures for the 6. 
promotion of small-scale industries 

in your locality. (2) 

7. Some particulars from a class time- 7. 
table are given below. By using 

them, fill the columns in the table 

correctly. (2) ! 

d3J6l6n5 af® z,ce., CQJ J,o "oJ1 eJ 13 5% (lJ(/) BDls,Jz, 

r4i)ml nJOCQJOo" Cl(j)ml OJ~o&i~om1cOOJ,d3JCWJ,o 

6l.2JmJ®~. 

®0Gm.JJ,OJ16lc(q OJ~0'6lJJ8ffio UOffilCQJOG:GrnO? 

m ~o,mJI ce.,ro1cOO z,ro:,. 

m1608~J,6lS lo.J<ll8U06l®Ol 6l.Q.IO,:ld3J1S 

OJ~ OJ ffi) 0 CQ) 608 6l ~ n.J (() 1 a: nJ 0 <Yl:l1 <;1j1 cOO~. 

rm®1mz,~. o.ffi6)®83:>1eJJ,o ro6'fli QlOctJ<{S608ciO 

ml&a:<JuolcOOJ,d3J. 

63 ro 2, 'll<JOm) <ru Ill CQJ oJl OJ fO nJ §1d3J mf16l eJ .211 eJ 

ru'lOJro608cfO ®06l<:l' 6ld3JOSJ,®Dl1ro1<£6)2,tm2,. 

®O OJ ~nJ a:CQJO(J)l-'3J ®06l\9 maf!Jce., 1 mJ1 rolc002, rm 
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(1) 

(2) 

n.13lce., UO(o1womfl nJJ01~nd16lJ,d3J. (2) 

CLASS TIMETABLE I 'iJB6® <mmwhllOJro o.J§1.m 

i , Periods I oJ10lwruJ' ! 
~Days I Glm608u'n ~-.~- 1--==~=-t . 3 ~-~~-3 1-4·~- f_. ~~-~~ ~~j 
f-,-W_e_c_n_1e_s_d_a_:;,_· -~~-E-'-co-nomics ' r I English i ' I ' I 

GnJjWmo4 oJ rruocr"mm1<nooorrD[®o 1. I. t-~o"'@o>it . _ . t _ ~ 

KR-43 

l I I . . ____ _ 

r~-Titlc/~"'0 ·····--T= uu.um···uu········ 

1 0aption l ®eJ OJ0.2J<:Boo I ............................... . 

.I 

I 

~ I -t i 3 1 Stub I o.Joc&:Ml uo"l&<Y!:~<:Boo .............................. .. 

14 r Body I ~~s&G>o ~--~nglish I ~oufll!o>f ~ 

l-d N ore I '"J01~'"~ f- ~-c~~~~~c".*.~ ~":~~'""':~J 
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8. Fill in the blanks with the correct 

terms related to standard deviation. 

a) Standard deviation : Absolute 

dispersion 

b) ................. : Relative dispersion (1) 

9. In a debate, one of your friends 

remarked, "the creation of large 

export surplus during the British 

rule did not benefit India". Do you 

agree? Substantiate your answer. 

10. In a cashew factory, out of the 300 

women workers, 155 engaged in 

sh~lling, 50 in peeling, 25 in 

grading and 70 in packing jo?s. Can 

you represent it on a pie-chart? 

11. Prepare a seminar paper on the 

major challenges that India faces in 

the health sector. 

(Areas to be covered - State of 

health infrastructure, role of 

private sector, urban - rural 

comparison, women health, etc.) 

OR 

·KR-43 

(2) 

(4) ' 

(8) ' 

4 

8. m omcBo OJ1.2J eJ mo.Jc~,m o (Q}l 6ill ffillw<;tj 3 

UOi01WOW n.J8o ~n.JGCQ.JCJ(J)lg,f "..J4i01<;tjl&;l6cBo. 

63(()0cJIJ, 

gJ2':J ®OI51Lc..JOWGCOIO:JOS m16013rft czwomlc&!:il,i 

(ffi2,G()j::J? ~CO®iOo oUr:ll<t®.Olc&t!,lc&o. 

10. 63(()2, cfbUDJ,0.J6!T=:l rlilOcfuS01mJlaf6 ®~8£-,ffi-',;§~ 

300 mhCOl"1 w<i5lo':PleJOg)_lcm§_1miJ 155 a:,LJ,'IJ 

cfbUbJ,OJ6Hs1. tiJ)~P.J,;o 50 alo.J!IJ d3oUCI6Cl61Ys1 

n.JOc£ltl1ow1 eJJ,o nffiillG><J:131'<>1d1flJ6C'il16. wwn.J 

.2J Cl ill3" ~ n.J G W Cl Wl.q,,( m160T3 eft cBtlu gJ2 COl" 

.2.llcmncBo(l)1d1flloGmo? 

11. (ll'@ C: (l):)(J)J G r:ll6JJ eJ CDJl aiiJ gJ2 mD J ~0 rs1 r1lJ6ln cfb(l)1 

· d1fllJ,cm Ln.JWOm wOJ~,J,O.Jlg)_1c&,w~;dRi 63(l)J, 

waum!moill Gn.J<J:iill ®<JiPOOo%)J,cfb. 

n.J36nl .. lWOtll ®OCOCOlQl,jo, C'iUulCllllcfb§J,6lS 

(ll'(O)GCOO(J)Jo tll2,COleJOCWOJ.) 

mro6)i! 119> 1 am 
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(1) 

(2) 

(4) 

(8) 



OR 

You are invited to present a paper 

on the various sourcess of energy 

in India with special reference to 

the current challenges in the power 

sector. Prepare it. 

1 '> Give a suitable term for the given 

idea. 

"Fixing of the maximum size ofland 

a person can hold". 

13. _-\ researcher wants to collect data 

from some remote areas, where 

there are no telephone facilities 

and conveyance. 

a) Suggest her a suitable mode of 

data collection. 

b) State any two merits of that 

(1) 

method. (3) 

g;Qm5)~W16le.J ~ro/O~(m')16lcffl lo_lWOm 

~ooJls60B6l~o_jR1 63ffi6 (gn..J<;tjiO ®OOJ®ro1<;;:[1 

cOO 6 OJ om o w1 m160B 6l ~ dhl:l6ffi1 cOO 6 ® 6. 

6l6l0JG~G1 {gQl6lJeJCl2flaffi g;Qom~ ellffiffi1SJ,® 

g;!2(g<;tj0'£'6l(m'), 6l0J~J,oJlgicfuc.iiJc£16)' ln..JOWOffi~o 

mamcfu16lcfu061Ysl" ~'D/O~(m')16lCVJ ln..JWOffi 

~oOJ1S60B6l§_n..JR1 63ffil, ello_l<;tj/0 

®~OOOcOOJ,cfu. 

12. mafficfu1coJ1ro1c006® ffi'@)CIOW(m')1m ®Offil,ellWO­

@'.l~QlOW o_lGo mafficBo6cfu. 

"63ffil, OJ,)cB®1cS6l 6l6lcfuOJ C/Oo OJ cWcOOOOJI, ([() 

o_lffiQlOOJW1 @~Ql1W66lS ®O§_OJ"''. 

13. WOl®O CTU'Dcfuffi~OJJ,o 6lSeJ<ZoD06ffiJ,o ~O(m') 

.0le.J 6386l<;l:]§ l(I)OQl60B§_1am m1®6o 63ffiJ, 

(/)ell OJ o9:1 cfu ru1 OJ(() ell (/() 6lJ (() 6ffi 0 m s em) 0 em 

ffi'@) l Cf)nD1 cOO 6 ([() 6· 

a) ®Offi6<ZWO@'.l~QlOW 63ffiJ, B(m')<ZC/06lJ<ll6ffi 

rol®1 m1iOell'3CJ01cOOJ,cfu. 

b) ffi'@ roi®1W66lS 0@6l®ffh1e.J2,o ffi6f@u 

(/)66ffi60Bc.iiJ ntl)'£'6®.!,cfu. 

14. Find the main areas and measures 14. @O<ll® cmiOcOOoiO 199Fam ffii1!1lJ,6l~ CTUffiJ®u 

adopted by the Government of ru~OJffil.06lW ~GoroOJamcOOro1cOOomow1 

India to liberalize the Indian 6lcfu06fr5J,OJ® lo_lWOm msOJs1cBo6l§_(L]R1WJ,o 

economy in 1991. (6) ®OOJ 0@6l®~ oo CllQl6lJ e.JcBo§_1e.Jow1ro6®6 

ntl)®60 cfu6)6f@(m')6cfu. 
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(1) 

(3) 

(6) 
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The stagnation m the Indian 

agricultural sector during the 

BTitish period was mainly due to 

a) Low level technology 

b) use of fertilizers 

c) Various systems of land 

settlements 

d) All of these 

l6o After th:e discussion on poverty 

programmes in your 

dass, your Economics teacher tells 

you to prepare a chart in the 

following format in order to exhibit 

it class. Can you do it? 

(1) 

(3) 

6 

<Ll o cw 6 em 

l <Ll B i'IJ rd.l ~1 r:£6) a (rio mil 

~OCfOl® tmoGJJJOn.Jc8,rffi 

m16llBciOr:£6) @fMo\ 6l.!2.JCQ1::JtJ:ol:) 



of the upper 

the f0llowing 

c!lS!tnbutwn as 8~ 

5,8, 1,3,5, 9,3,2,20 

:r:ornics in the 

---- -. ---- ---···----~--------------~ 

Students I 
I ! :··-------- ------------~------------------1 

! • .'l 1 (· l 3 I 
L----''~_-_·:_' __ j ____________ · _____ _! 
1 ll1---20 ! 4 1 

f---------------+---------------------1 
I . ' 

1 2~\- 2e: : - 5 1 

L_ ______ ----L-------------' 

! >J--c!c(! ! 10 I 
:___ ---- -----+--------------------1 

i I 

.:. --GCi i 11 I 
I 

-- - -------i-------1~--------1 

-1 

, 9 I 

-i -------·----- ------~-------------1 
; ,.,,. ,, -. ; "' I 
i t\)--CU i -.t ! 

l------~---·--,--,.···---l--~----- _j 

Calculate standard deviation~ 

like the ones 1vho are not 

sea tis tical 

m(;ntlODted here. 

(2) 

(5) 

(1) 

7 

oli®i06ffi®m16)rB alJffiX>o .2J®6ib®Ocfuo (Q3) 

8 Cll'@)6ffiml cfb6)6fl'S(m)1. 

14,5,8, 1,3,5,4,9,8,2,20 

<Z@<lo6ffi16)rB cfu6)6fl'Stmmarn 6)®8 Cll'@)6'i6ffiroo1arn 

826 

®1i06®ID6d3>. (2) 

18. ro611'5oo rLIOB rL~m"l~w1arn m160l3§.6@S 

oo0®161eJ 60 (L11B,}Oib®01cfucfb (ll)QO'lJ~l1cBo 

uoo®"lm; oJ1nS:lwmro1mo <1lms1w moibd3-6l" 

Marks No. of Students I 

0-_1_0 -· +---3 __ _ 

~-!_0--20 4 

I 20--30 5 I 
I 

I. 
I 

30-40 10 
I r----

~ 40--50 11 

I 
I 50-60 14 

6(}-70 
I 

9 

I I 70-80 4 
i 

momce, oJ1.2JeJmo cEh6fl'Sv nJl s1 ,oo 6 ce, 

(standard deviation). 

19. '' 6)CIDC1l6)6WimSJG006)~§ ()J ~ cfr@1 cEh ciO 

6l®ffi6)6WimS,\G006l<J:ISO®m OJ~ ce<ID1 cEh 6) ~ 

(8(L]06)eJ (lj)6)(ffiCQ!061TI.', 

g>oJl@S . nJ(()QQl/b(1()1c00@<J:j§1§.l~ 

®Oo6lJ~OnJt'll£1>0CQ! oJIB~ cEh6)6fl'S®mc?,cEh. 

(5) 

(1) 

Turn Over 



20. A friend of yours made the 

following post in a social network 

site with the comment, 'adequate 

job training to farmers can raise 

productivity'. 

J 

20. m160B~6)s 63ffi6 GfuJ§J,d3:<)m\iO 63fn6 <2tTllOo.'tl,)<lffi 

@mf1rurod16) 6)6)(TDR1afn mamro:,1CQJ .2J~lCO)("LIJ,o 

mrors1Lo.JOC!2JOJ6o -'2J60J@S mamc&,6rrD6. 

' 'c&:, fO o.'tl <f), fO d:}@u nJ ({) J 0 o.Ju (Q) Q) 0 C!2J 6) (Q) 0 <91 am 

n.Jtn1 uo"l e.Jmo mrrmro:, 1 ~rrffio.J:)(:lffi cfu.'tiQ)(Q) 

OJfOBJJ1<;tjld:}6)0o'' 

with equal size of 

21. 

land how is it that his 
yield is more than 

) 

Can you Wl'ite any two relevant "63Cltn o.Jlcru"®~®1CQJ6ffi rs~a:ilmJlam :e:,~o.'tll 

comments which help the other 6) -'2J CQ) ®1§l,o' om Cl (ffi d:}6) 0 ciO c&~ s 6 (Q) am o.n ~ 

farmer to raise productivity? (2) ®1)Cl<3n.O®ID1ClmO ?" nB)rrDu n.Jtn1®o...nc&6),~rrD 

®f0o.'tl<fu6)\ffl ~amnJ::JGm cfu.'tl Q) (Q) 

6)Q)-'3d ?1\l:J S6(l)lll)6\m®1m6~ (1)6Jl5u lnJWOffi 

mro@l Ln.JOC!2J60Bem m160Bemd16) GfuJ,01d:}6)0Cll1l::l? 

While visiting Munnar as part of 21. n.Jom C!2J :) l (l5) C!2J 6 6) s t5 o (!) Ql o w1 LllJrrD::lfO 

the study tour, you have purchased cru m fO uo1-'3d Cl '<l:l o em ml60B em 63 en 6 Cl®w'le.J 

five packets of Green Tea (Organic n.nocfu'so1 o.Jlm'il',ljmuooe.JmJlaffi m1rmJ,o mroGr"Qlr 

Tea) from a factory outlet. ro:,rufO 'L(!)"J<fb Sl' ( 6)6)1'l60J Cl®mJle.J) ruo60B1. 

Can you write any two justifications 6)6)1')60J Cl (l5) C!2J1 eJ (Organic Tea) 

for purchasing organic tea? (3) OJ o 60131 w ® 1 m 6 ffi ntj3@®ffi:>1e.JJ,o ({) 6Jl5v 

me~ocWJro:,m6m60Bem ®offi:>emc&6) nB)'9J,®OClLllo? 

KR-43 8 

826 

(2) 

(3) 



826 

22. -\-,pin classified the students of a 

school on the basis of their heights 

as follows. 

22. 63ffi6 m.rc&~§16le.J d3o2,~1c&6l§ arrorum2,6JS 

~ <:D) (() com 16l cffl arro s 1 ffi2D om arrm1 mo ru1 n..n m L ®86l'-J'nJO(Q)6o ln..Jc&Offio ®ffio®1ffi1-8dJ,. 

~-~----~-------~-7 -------.-- -r------~--~~--. , 
I Heights (in em) ·1110~120 120~130 1.30-140 1140---150 I 150--160 1160--170 ! 

!_No. of students 75 115 125 I 135 90 . I 50 J 
I 

a) Name the rlassifica tion. 

b) Tell him the other ways of 

c l a:.;;ifica tio!.1. 

c) Find the class interval and 

define it. 

d) State the class marks of the first 

and the last class. 

23. Find the odd pair out. 

s. :\-_-\B_-\RD - Rural finance, 

c) AICTE- Energy, 

(4) 

(1) 

23. QJj®jcnr®tnOCQJ &@<lOCUJ16lCW cfu6l6nSMm2,cSo. 

a) NABARD ~ lWOtn"l6ffi wmceo::>ffijo 

b) CPCB ~ nJroiffiill1®1 

c) AICTE -- ~'1Jro@€;lo 

d) ICMR ~ ((f@&ffiOWc\o 

(4) 

(1) 

KR-43 9 Turn Over 



24. Hafis collected the following' three 

pictures as a part of a project on a· 

topic in +1 Economics. 

a) Can you identify the topic in 

which he is preparing the 

project? 

b) Suggest any four other areas 

from which data/pictures are 

to be collected for the same 

project. (3) 

24. 63em::Jo 

6) c& ::J s 6 (0)'0)1 (() 1 c00 6 em m ~em 6 ..QJ1L <OJ 61513 cJO 

ClCJ06lJ(l)1_gd6. 

b) ~ <ll <OJ 6) L nJ o ~ c&" sl m 6g5~ G corm 61513 cJO I 

..'2.!1L<OJ60Bci0 <llC!Il6lJro1cOOom~ mR" moeJ 

<llm6lJe.Jc&ciO m1ffi<llC3Cfll1cOOO<lllll::J? 

826 

(3) 

25. Your friend is confused between 25. eJ ::J mr<"Lf1w o1 a:evsw 6o nJ ::J6)m:J w 6Cl sw 2,o 

the equations of Laspeyre's and 

Paasche's price indices. If you point 

out any one, she can write the 

other. Can you help her? 

a) Paasche's index number- ....... . 

b) Laspeyer's index number-........ (1) 

26. "China is moving ahead oflndia and 

Pakistan in many of the Human 

Development Indicators". Prepare 

any four points to support the above 

argument. 

KR-43 

(4) 

10 

ffi) ~..QJ cB>::J 8:7.>61513 §2,6)5 ffi) Ill OJ ::JcB> <'J61513 6)~ oJ p1 

m161513§2,6)S cB>~§6<Bo::Jro1cB-6) ffiloCfllCQJo. 

nffi6)<0Js:7.>1eJ,),o 63@ m161513ci0 :ru~..'2.!lc;:;:Il-sdOm'O, 

II!Clp® cfu~§6c&::Jro1®6)(f(J 0B)"',!,<OJ16)cfu::J~o. 

ffiln.O::JCllJlcOOOClQlO? 

a) oJ::J6)m:lm!,!,6)S ffil&-'J-)c&::Js:ho .............. . 

b) eJ:)m)6)oJ<llJ0J6)CVs ffilJ,DJcB>::Js:ho ........... . 

6) 6) ..QJ mew 6 6)5 <W::J L <OJ ~ (TQ)J6) <l2J cOOO§),o 

nJ::Jc001 Clll0:)6)ffic00::J§),o Offi6)0 

m2,rrn1 e.J::J611")." 

g}2'D lnJml"<OJOO.JfficOO" ®Ciffi,),cfuJ,eJIIl::Jm! 

(1) 

nffi6)®(\:ble.J,),o m::Je.J" OJ::JG(J)<OJlc&cJO m1roCO©,),cB>. ( 4) 



27, The tea leaves collected by 100 

women labourers from a tea estate 

at Peerumedu for the month' of 

February 2014 is given below. Find 

the mean, me.dian and mode. (8) 

27. 2014 6lo.Dl6D..Iol0Jffi1 Ql0m.JC0®1m] oJ1ffi3<lll1l§16l21 

63ffi~ <Z®mll21 o.mcruuCERR1 m] 100 own (0)0 

<ll @20 efl c66)0i0 <ll (!() 6lJ ffil.gd <ll ®mil eJ gQ eJ c:fb~ 6) s 

«ml~ol .2Jol0J6lS mamc:m1mllffi1ro6W1DJ. 

I . Tea leaveS (in kg) 1 (}-14 15--19 20--24 25-29 -1- ~0-01 --. _ 

~--~~omen lab_o_u __ r_e_rs~ ___ 2_o __ ~----.25 ____ L_ __ 3_0 __ ·~----1_5 ____ j___~ ~J 

OR 

As a part of the Teacher's Dily 

celebrations in your school, you 

are asked to take a class for 

the first year Higher Secondary 

Humanities students on the topic 

'Measures of Central Tendency -

Meaning and its measurement. 

Prepare a note for that. 

28. You are authorized to make a 

project for improving the roads in 

Kerala. List the first four steps in 

making such a project. 

(The other steps being Analysis and 

interpretation, Conclusion and 

Bibliography). 

KR-43 

(2) 

11 

ffi'mBDjO<Llc:fb B1mOCEne.JOn3::1C0®16lcfl i'SOC(-ll1lOmiJ 

m160B~J6lS m.Juc:fbJ~16l~ 63(ln0o OJilln3:1 

nDJJL1lOm1R"'m) o.llBJOI0®01c:mcibd76l "<ll£lm"'cw 

l <LJ ru 6TTl ® cw ol6l s «mJ ~ ru ol ce., ciO - «mJ ill ®D ruJ o 

nJ 0 0 1'5 0 (J) 6l (010) 

ffi'@Jm.Ju<L1<3QlOc66)1 63ffiJ <W 06lm.JSJc66)0cfD 

m160BCE~os ffi'@JOJC!Oj6l\1:JS6nn6. ~®1momll 63ffiJ 

£ol01\1:Ju (Q)~000c66)ol£. 

.2..12,m ®21 6l<;;j S6 (010)1. ffi'@J 6l l <L1 om cfu's16lcfl (1J@ B,\ 

moel' m.l6lR\Bol£cib "8)'92,®2,£. 

( m Ru cruu 6l R \d 6 ce., cib - ClJ1 CIO ce., 21 m ru ol o 

OJj06lJjOffiOJJ,o, crumowmo, lWmDm.J.j.2ll) 
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(8) 

(2) 


